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$ wget http://xcalablemp.org/ja/download/lecture/XACC/sample.tar.bz2
$ tar xfj sample.tar.bz2

$ cd sample
Z R AR loop.c
WHMb 2= A xacc_loop.c
[B] &5 answer/xacc_loop.c
ARRA 2 IERhR laplace.c
A HAL 3R A xacc_laplace.c

(o] ZA3 answer/xacc_laplace.c



1. HEL A5 LOFE
2. 2RITEMNEFTEDUFHE




]
BEAL 077 LA
c JL—TX %R/ — FTHFHEFTIT HE-0IZ.
Be8llaz 89 5

loop.c

int al10], i;

int main() {

for (i=0;i<10; i++)
alil = 1i;

for (i=0;i<10; i++)
printf ("%d¥n”, alil);

return O;
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#ipragma xmp nodes p[*]

#ipragma xmp template t[10]

#ipragma xmp distribute t[block] onto p
int a[10], i;

[XMP align}g~X]

int main() {
[0penACC parallel loop$gsR3 with copy#f]
[XMP loop#g~X]
for (i=0;i<10; i++)
ali]l] = i;

[XMP loop$g rXX]
for (i=0;i<10; i++)
printf (" [%d] %d¥n”, xmpc_node num(), ali]);

return 0;
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FEA{E
sin((double) j/N2xM_PI)+cos ((double) i /N1xM_PI)
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BEEEIL—T
for(j = 1; j < N2-1; j++)
for(i =1; i <NI-1; i++)
ulj10i] = (uulj-110i] + wulj+110i] + wulj1Li=1] + wulj1[i+1]1)/4.0;
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uljlli] = uwuljllil;
- loop}e R X Tl 511k

2. T HERINERDSELAHHIEE
uljlli] = wljl0i] + wuljlli-1] + wulj+1100] + -+,
> #1181 +looptE "X (#BEEIXDEEFEL <)
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value += abs(uulj][i]l-uljILi]);
loop#&RXIZ lreduction&il Z{F/0
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#include <stdio.h>

#include <stdlib.h>
#include <math. h>

#tdefine N1 64

#tdefine N2 64

double u[N2][N11, uu[N2][N1];

#ipragma xmp nodes p[*][2]
#tpragma xmp template t[N2][N1]
[XMP distributef§srx]

[XMP alignigr3]

[XMP alignigr3]

[XMP shadow$g R3]

int main(int argc, char **argv)
{
int j,i,k, niter = 100;
double value = 0.0;

#tpragma xmp loop (j, i) on t[j]1L[i]
for(j = 0; j < N2; j++)

for(i =0; i <N1; i++){ INE—21
ulj1[i] =0.0;
uuljlLi]l =0.0;
}
#tpragma xmp loop (j, i) on t[jl[i] .
fFor(j = 1: j <N2=1: j++) AC Sab

for(i =1; i <NI-1; i++)
ulj1li] = sin((double) i/N1xM_PI)
+ cos ((double) j/N2+M_PI) ;
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I [OpenACC datatgr3]

9L 3K —

for(k = 0; k < niter; k++) {
/* old <- new */
[OpenACC parallel loop#gE R3]
[XMP loop$&rX]
for(j = 1; j < N2-1; j++)

for(i = 1; i < NI-1; i++) INA—21
uwu[j10i] = uljllil;
[XMP reflect}§sR3X with accf]
[OpenACC parallel looptgsr3X]
[XMP loop$&rX] .
for(j = 1; j < N2-1; j++) =22
for(i =1, i <NI-1; i++)

uljlli] = C(uulj-11Ci1 + wulj+11LiT +
uulj1[i-11 + wul[jILi+11)/4.0;
}

/* check value */
value = 0.0;
#tpragma xmp loop (j, i) on t[j]l[i] reduction(+:value)

for(j = 1; j < N2-1; j++)
for(i =1; i <NI-1; i++)
value += fabs (uulj1[i]-ulj1Li]);

INR2—23

#ipragma xmp task on p[0][0]
printf (“Verification = %g¥n”, value) ;

return 0;
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